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Perhaps it is to reject the view of our Rabbis — 115012977 p19K% K297

OVERVIEW

The X3 stated that the 73wn of v 1°X 12 N1 121 °NXA R OX U 117, is teaching
us that 70 RS V) PR. The X123 asked that we already know that in°n OnIKR? 03 PR
from the Xw™ of this 71wn which states va 77 X N aX. The X713 responded that
perhaps the 89°0 is teaching 1°M12777 *P1BR? who maintain that 1°%¥ 11221 0w W 1247
(and therefore in the case of *nXk2 RS X it will be a v3), therefore the 7wn teaches
that it is not a v3.

Moo responds to an anticipated question:
= DY 11T 21N PRYA NNPIND NIINT 19952971 PIAND 139¥0YW RY XRYIHT NINNN YaN

However from that which the 71wn states in the X9 (namely, ©3 77 7R N1 OX),
we cannot derive 119manT» SpRd,! for we can establish those cases, where
there was no date written? in the vs —

mooIn anticipates a difficulty by establishing the Xw1 in a case where 17 12 PX:
= 13792 PPRY 11193993 1Y PIIDD PV NYIHY (3,19 97 i) 12ININT XM

And that which the 71wn states, ‘three 3" are 1"»02°, and one of them is a 03

which has no date, so how can we establish the X1 (of “nn oX 03 1"777) by a 7271 12 PRY 03,
since it is 7109 regardless (even if we maintain 702 RS VI W°) —

mooIN responds:
= Y5 1N HNYI ON 19999N NN

But the mwn there also states, if she married (with one of these 2109 w2 "

[including a 7471 12 7RW ©3]) the child is w3, for she is considered divorced -
= INYI IDON DIV 91K KD NN 230D N1 INNY V) PNT 301V

However because of 0o anKR» v PR the mi1wn teaches us here that he did not

! According to 1°m27 that Y%y mowm q0w Hw 1T, if he said *nn oX v 177 it would be a valid v if there is a date in
the v3, since the date is r°>w that he wants the v to be effective retroactively from the date on the v3, and it will not
be considered a i XY L. By saying that it is not a V3 the X1 taught us »"238. Why do we need the x2°0?!
2 However since the %90 is superfluous (for we do not need it to teach us 7n°» KXY 03 PX, for we know it already
from the Xw™), it must be coming to teach us 11°M27 *P1R? that even if there is 127 it is not a v (see 7"7N).
Alternately, in the case of the X9°0 where he writes W71 2> 791 182% >NX2 X7 OR, it is evident that there is a date and
nevertheless it is considered a 7n°n TnKY L because the mWn teaches us 1111277 *POKY (see 7w 2"7).
3 There is a purpose in teaching the rule of w7 2* T¥1 1837 *NX2 X7 ox where there is no 127 in the 3 (for even though
791057 she may not marry with this v3 [even if he did not return (without an 01R)] since it is a7 12 7°X, nevertheless)
the mawn teaches us that if the husband died and she remarried, she is still 212°% 7pIP1 and requires 7%°71 to be nnM
.
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say anything (the vi is ineffective) even if she remarried for 7non x> va Px.

Mmoo offers an alternate suggestion why we cannot derive the 11°m2a777 *P19X% from the Xw.
= V2T (3,1 91 VT 7Y D992 9IRT YN IN NIV IN W12V 12 2INIVWI ) N

Or you may also say that in the vx was written only which fuws»w cycle in the
227, or only which year in the nv 7w, or only which month (so the date in these
cases is not specific enough), where the X711 states in the second P99 of noon

wss that the v3 is ws -
- 49593 1199312 13T PPN

However we cannot say 1°9¥ 1521 0w YW 311, since it is so vague and we do not know
when it was written.

mooIn offers a final option:

$9NIND I N
Or you may also say; it was a post dated v (which is 2w>),> where we certainly cannot
say 17y "W v Hw 1unr®

SUMMARY
We cannot derive ’Ma7 pdXy? from the XM, because the Xv» may be
discussing either an undated 3, a vague date, or a post dated va.

THINKING IT OVER

mooin (last) answer is that it was a 9m&» vi. The question is when did he die; if he
died prior to the date, then it is certainly not a v3 (even if he did not say °n»n oR),
since the v is effective only from the date on the v3,” and if he died after the date,
why cannot we say that Vo m2m “vw Hw nr, that it should take effect on that
date?!8

4 Let us assume that the date of the v} was year one of the Tv>»w and he said >nn oX v’ 177 and he died before the
end of year one. We cannot say 9y mow quw 5w 111, because we can assume at most (if we maintain ow Hw o
9y o) that he meant that it should become effective by the end of the year but not before, and since he died
before the end of the year it is a 1% X 3 even according to N2,
5 See wop? w1 "7 X, Pu7 "0, who proves that a ImIX» 03 is WD,
6 See ‘Thinking it over’.
7 See footnote # 5, where '01n maintains that the v3 becomes effective from the date on the v3.
8 See X"y" and vp MIX PAX> 0779,
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